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TR % W2 31 faepa il 6 v @
(1) 79 12 forpa
2) 798 S faga
(3) 793 11 fapa
4) 595 18 forpa

Sa-w@r s1yer ‘- 6y 3= am
JR ISR ?

(1) 3¥aet

(2) 3o

(3) 9w

(4) @=Td

9/8 ST AT TohEeh THHE & ?
(1) 51.1 3%

(2) 45.8 A

(3) 28¥T

4) 61.1 9%

T ORYEE @R ! fRafed ST STl
B 7

(1) cHfEg-T

(2) TTT-T0T

(3) TH-TEAT

(4) JEg-SATd

frfafea § ¥ fea vt & w-ufieh
TRt hl IooiE 2 :

I Hifid Hehig

1. @fia gdur

1L T AT

V. e

(1) LILIITE IV

() LUV

(3) IL TS IV

(4) LI I

2

Shudha and Vikrit swaras according to
Sharang dev are —

(1) 7 Shudha 12 Vikrit

(2) 7 Shudha 5 Vikrit

(3) 7 Shudha 11 Vikrit

(4) 5 Shudha 18 Vikrit

‘Jeev Swara’ or ‘Ansha-Swara’ is also
known as —

(1) Anuvadi
(2) Uddata
(3) Vadi

(4) Sanchari

9/8 interval is equivalent to —
(1) 51.1 sevart

(2) 45.8 sevart

(3) 28 sevart

(4) 61.1 sevart

Narayan Moreshwar Khare is known
for —

(1) Dasvidh - Raga
(2) Ragang - Raga
(3) Gram - Murchhna
(4) Prabandh - Jati

Raga-Rajani classification is
mentioned in which of the following
texts :

I.  Sangeet Makrand

[I. Sangeet Darpan

III. Rag Tarangini

IV. Natya Shastra
(1) LI, I and IV
(2) I,IITand IV
(3) ILland IV
(4) I, 1Iand I

01 (Paper-I, Sarangi Instrument-I)
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6.

Match the ‘Shruti-Swara-Sthanas’
according to Ahobal :

List-I List-II
(Swara) (Shruti)
a. Poorva Ga I. 9
b. Teevrtarre II. 22
c. Poorva Ni 1. 7
d. Teevrtar V. 20
Dha

Choose the correct code :

a b c d
(H I o o Iv
2 v m 1 I
Gm 1 v 1
@ o v 1 I

Shruti order — 1, 5, 8, 10, 14, 18, 21
palced in a ‘Shudha Swara Saptak’,
denotes which period ?

(1) Vedic period

(2) Medieval period

(3) Ancient period

(4) Modern Period

‘Re Dha’ Komal and ‘Ga Ni’ Teevra is
the characteristic of —

(1) Parmel Praveshak Raga
(2) Gram Raga

(3) Sandhi Prakash Raga
(4) Seasonal Raga

Assertion (A) Karnatak music
doesn’t have the concept of Time-
theory of Ragas.

Reasons (R) : Ragdari system doesn’t
prevail in Karnatak Music.

Select the correct option :

(1) (A) and (R) both are correct.

(2) (A) is correct but (R) 1s wrong.

(3) (A) is wrong but (R) is correct.

(4) (A) and (R) both are wrong.



10.

11.

12,

13.

14.

i @ g
(1) whicaam™
(2) ®IE
(3) Wied
(4) Tz qura

w&ﬁwﬁmﬁ%mwaﬁﬁﬁagﬁm
w@ie ?
(1) 13&f
(2) 14&
(3) 124
(4) 15df

@ % T @l AR -aET,
ToETeT TRl 8 Hel el @l ?

(1) &-9

() wHEa —dEl

(3) T — " dis

(4) T eRINS — AR E

o #, a-wR % Sga™ % RO
ey, Freforfaa 5 & fp wiedA S

2
I TEE el
. TR S H

[II. T3 TTRE 99 |
V. T % @& |

(1) 1T 11

() 11T I

(3) TV

(4) LTIV

fpg T 1, “TaeTae’ R UE WHEES
TETTRTR ?

(1) T ST

(2) T

(3) dilid TIeht

(4) e
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10.

11.

12.

13.

14.

Choose the odd one :
(1) Kallinath

(2) Keshav

(3) Kohal

(4) Singh Bhupal

‘Shudha-Madhyam’ is placed on which
shruti according to the ancient scholars ?
(1) 13"
(2) 14"
@) 1n°
@) 15"

Frequency of which —swaras of
Bhatkhande doesn’t match with the
western swaras ?

(1) Sa-Pa

(2) Ma Komal —Teevra Re
(3) Ga Teevra—Dha Teevra
(4) GaKomal — Taar Sa

Change in Vadi-Swara, in a raga
consequently changes which of the
following features :

I. Form of Singing
1. Jati of raga
1. Gayan Samaya of a raga

IV. Swaroop of a raga
(1) ITand Il

(2) land Il

(3) land IV

(4) L ITand IV

Bilawal is accepted as -Sudha-swara-
Saptak’ in which of the treatise ?

(1) Nagmate Aasafi
(2) Natya Shastra
(3) Sangeet Ratnakar
(4) Brihaddeshi
01 (Paper-I, Sarangi Instrument-I)



15.

16.

) (0

18.

19,

FU-ATE % T i gfe e fieH A=
3ar fean 5/, df a8 foee 379 9@ &l
S ?
(1) Ih
(2) GHS

- (3) fremw

(4) wREr
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1 2
2 5
(3) 20
@ 7
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(1) sl

(2) Hi@q

(3) dieht

(4) =
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15.

16.

17.

18.

19,

If the ‘Re’ of “Kalyan Thaat’ is lowered
by one semitone, it will reveal which
other “Thaat’ ?

(1) Kafi

(2) Khamaj
(3) Bilawal
(4) Marva

Which pair is not matched correctly
according to the ‘Shruti-Swara Sthanas’
of Lochan :

Swara Shruti
(1) Ga - 9
(2) Ma - 13
(3) Pa - 16
(49) Dha - 20

‘Sangeet Raga Kalpdrum” is written by —
(1) Somnath

(2) Shrinivas

(3) S.M. Tagore

(4) Krishnanand Vyas

How many  ‘“Vikrit-Swaras’  are
mentioned by Bharat ?

1 2

2) 5

(3) 20

4 7

Murchhna
Gandhar’ is known as —
(1) Sakakli
(2) Santra
(3) Paurvi
(4) Ramya

consisting of ‘Antar-
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22.

23

24.
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(2) i G
(3) ST Etd
@) e
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20.

21,

22.

23.

24.

A small ‘Raga—Vachak—Swara—Samooh’
is known as —

(1) Thaay
(2) Thaah
(3) Sthai
(4) Aroha

Any composition which is only a
melody, is called :

(1) Homophony

(2) Monophony

(3) Polyphony

(4) Sonority

The definition — “Geetam Vadyam
tatha Nrityam Trayam  Sangeet
Muchyate”, is given in which text ?

(1) Natya Shastra
(2) Sangeet Ratnakar
(3) Dattilam

(4) Brihaddeshi

In the ancient texts, Shiva and Parvati
are manifested as —

(1) Nirgeet — Bahirgeet
(2) Margi — Deshi
(3) Gram — Murchhna
(4) Tandav — Lasya

Refined and systematic music, which
needs required skill is —

(1) Margi Sangeet
(2) Lok Sangeet
(3) Tribal Music
(4) Deshi Sangeet

01 (Paper-1, Sarangi Instrument-I)



235.

26.

217.

28.

29.

<ifeeh are w1 $ATa T arel 9el gl Bl

I

(1) M — fum
(2) e - faar
(3) HHA — &

(4) =@l — wEEEr
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(4) dr
300 A g an fa B E 2
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(1) T — fou=ht
(2) TEeIhen — femm
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b. e 1. =i gdor
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25.

26.

27.

28.

29.

Select the correct pair consisting of
Vedic Instruments :

(1) Godha - Ping
(2) Aghati — Sitar
(3) Karkari — Bela
(4) Sarangi — Kamaycha

Which was the fifth swara of the
following scale :

I. Krushta, II. Pratham, IIL. Dvitiya,
IV. Tritiya, V. ...., VI. Mandra,
VII. Atiswarya

(1) Uddatta
(3) Archik

(2) Chaturtha
(4) Taar

How many main strings are there in Israj ?
(1) 6 2 3
(3) 4 “4) 2

According to ancient scholars, seven
and nine string veenas were known as —

(1) Chitra — Vipanchi

(2) Mattkokila — Chitra

(3) Margi — Vipanchi

(4) Margi — Saraswati

Match the following :
List-I List-I1

a. Pundrik [. Raga Tarangini
Vitthal

b. Lochan II. Sangeet Darpan
c. Ramamatya III. Swara mela kala
nidhi
Sadrag
Chandrodaya
Choose the corrrect option :

a b c d
(H v 1 1 I
@ o o v 1
3 1 v 1 I
4 unu m 1 1Iv

d. Damodar IVv.



30.

31.

32.

33.

34.
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. %

. 4ue

[l EETES

IV, §&

My 1 IV
@ v 1 1 I
3y 1 Iv Im 1
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ez <fom =1 ATeH BIAT AT -
(1) T gl

(2) THE

(3) 1T AT

(4) aferti % &
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mr. figedt

1v. oS

My o1 m oIV
@ m 1 I 1V
G m v Il
@ n m 11V

8

30.

31.

32.

33.

34.

Arrange the following forms in
chronological order :

I. Rika

[I. Dhrupad

I1I. Salagsud

[V. Dhruva

(mm 1 v I
@ wv 1 | G
@) 1 1w m I
4) 1 nm 1w I

Chitra veena was played by —
(1) Bow

(2) Reed

(3) Pluctrum

(4) Fingers

Sequence the following instruments in
chronological order :

. Pushkar
[I. Sarod
[II. Bhumi Dundubhi

[V. Synthesizer

(H I I m Iv
2 m 1 n 1
@) m v 1 I
@ un m 1 v

‘Magdhi’, ‘Ardha Magdhi’,
‘Gambhavita’ and ‘Prithula’ are —

(1) Chaturvidh Yati

(2) Chaturvidh Murchhana

(3) Chaturvidh Geeti

(4) Chaturvidh Laya

Choose the odd one :
(1) Singi
(2) Mukh Veena
(3) Shankh
(4) Gotu Vadya
01 (Paper-I, Sarangi Instrument-I)



35.

36.

38.

39,

40.

Sfeeh refi G e 1 g+ arefl et
BISEARC (T

(1) eft — qoe

(2) o - F8

(3) T - 3I&

(4) argdt — gt

3ufse Fiefa T, forees aam off 7
(1) T
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(3) eft
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(1) remmE |

(2) Tl TR |

(3) WXd wTsIH H

(4) @iva gemfer
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(4) gfiaaagand

i, e e |ifies |, A foran
TEA S ?
(1) 2,1,3
@) 1,23
Gy 22,3
4) 2,4,3
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35:

36.

7.

38.

39,

40.

Select the correct depicting
‘Sushir-Vadyas’ of vedic period :

(1) Naali — Tunav

(2) Pranav — Nada

(3) Aranya — Uhya

(4) Vayuvi — Dhruvi

pair

‘Nakhi’ of upnishad period is similar to —
(1) Mijrab

(2) Bow

(3) Finger

(4) Jhanjh

Choose the odd one :
(1) Brahmi Vecna
(2) Ghosha

(3) Ektantri

(4) Mattkokila

‘Nishank-Veena’ is firstly mentioned
in—

(1) Natya Shastra

(2) Sangeet Ratnakar

(3) Bharat Bhashyam

(4) Sangeet Chudamani

Mention of ‘Sarangi’ is firstly found in —
(1) Sangeet Parijat

(2) Swara Mela Kala Nidhi

(3) Sangeet Raj

(4) Sangeet Samay Sar

Archik’, ‘Gathik’ and ‘Samik’ contains
how many swaras respectively ?

(1) 2,1,3

2y 1,2,3

3) 2,23

@ 2,4.3
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42.

43.

44.

45.

46.
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41.

42.

43.

44.

45.

46.

Quantity of ‘Siyahi’ applied to the
“Pudi’ of ‘Tabla’, determines —

(1) Pitch of Tabla

(2) Bol of Tabla

(3) Technique of Tabla

(4) Laya of Tabla

Who was the first to mention the term
‘Komal and Teevra’ for swaras ?

(1) Bhatkhande (2) Lochan
(3) Sharangdev  (4) Abhinav Gupta

‘Gaatra-Veena’ is known for its —
(1) 3 strings

(2) Base of wood

(3) Resonance

(4) Depiction  of
through finger

swara-symbols

Which dance is the combination of
Bharat-Natyam and Kathkali ?

(1) Kathak

(2) Manipuri
(3) Mohiniattam
(4) Kuchipudi

Which musician is renowned for
establishing Kath-kali dance to its
present form ?

(1) Pankaj Charandas

(2) Protima Bedi

(3) Keral Verma

(4) Birju Maharaj

Which Dance-form involves the
qualities of Bharat-Natyam and Odissi
both ?

(1) Kuchipudi

(2) Chhau

(3) Mohiniattam

(4) Satriya

01 (Paper-I, Sarangi Instrument-I)



47. ﬁ??ﬁﬁ@%ﬁ:ﬁﬁ%
(1) HRTER U3 — anfedt

(2) Jmfafammeey — A
(3) WHE GGG — HUBCA
(4) wfemoft ¢et — YT,

48. uftrg o it g favar
(1) =g
(2) @
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(3) IEAH
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(1) WA
(2) b
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51. ‘BfmE-TEr feges il SATSTar g ?

(1) I
(2) faar
(3) 2o

) ol

52. T wigia
(1) Hfa
(2) 9

(3) =i,
(4) TR
01 (Paper-1, Sarangi Instrument-I)
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47.

43.

49.

50.

51.

52,

Which pair is not matched correctly :
(1) Mayadhar Raut — Odissi
(2) Vempattichinna — Mohiniattam

Satyam

(3) Shankaran — Kathkali
Nambudaripad

(4) Rukmini Devi — Bharatnatyam

Main characteristics of Manipuri dance
is —

(1) Varnam

(2) Gat

(3) Tender body movements

(4) Toda

Satriya-dance is originated from —
(1) Maharashtra

(2) Chhattisgarh

(3) Assam

(4) Manipur

‘Alaripu’ is an opening part of which of
the following dances ?

(1) Bharatnatyam
(2) Satriya
(3) Mohiniattam
(4) Kathkali

‘Senia-Gharana’ is known for —
(1) Dance

(2) Sitar

(3) Tappa

(4) Thumri

Choose the odd one :
(1) Kuiti

(2) Padam

(3) Varnam

(4) Trivat




53.

54.

55.

56.

57.

eIkl
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53.

54.

55.

56.

57.

Choose the odd one :

(1) Bande Ali Khan, Gwalior
(2) Sadik Ali, Rampur

(3) Dabir Khan, Indore

(4) Kumar Gandharva, Devas

Select the correct statement :

(1) Hindustani and Karnatak both
have similar tala-system.

(2) Main singing style of Karnatak

music is Dhrupad.
3)
4)

Javli is equivalent to Thumiri.

Tabla-Sangati is used both in
Hindustani and Karnatak music.

Different ragas are used to present
various parts of a Kriti in which
composition ?

(1) Raga malika

(2) Chaturang

(3) Swara malika

(4) Chitta Swara

Neraval denotes :

(1) Gamak

(2) Sargam

(3) Koot tana

(4) Boltana and Bolalap

Identify the correct group consisting

the ragas of Tyagraj’s panchratnam

Kritis :

(1) Depini, Ahiri, Riti Gaul, Shree,
Kambhoji

(2) Shri, Devangdhar,
Shankarabharan, Naat

3)

4

Kambhoji,

Kalyani, Varali, Mukhari, Gaul,
Saveri
Naat, Gaud, Varali, Aarbhi, Shri

01 (Paper-I, Sarangi Instrument-I)



58.

53.

60.

61.

62.

(1) Yoorel, FdeeTel qer =T, HidTH,
auT i % geu faam £ |

) S wga & @ = 2 7T FHad
rerfera Tt A € freg Bt R |

(3) Hfa o HdTE GA B I TUH
- | |

(4) Hia g gugH T 2 |

Ftes it <1 Brafd 1 3 =
(1) PR, g &, sammere

(2) Tafa foaearer, SRR, TS

(3) STCTHLEA HOT, TR, TETHIIAT
(4) v, @rfa foere, g

T & T H, 5 T A i AeAldl
e femrsman 2, AT @

(1) S urEe gral

2) fo=mivem

(3) ®W

(4) W&l

BT T T A& 2

(1) 9 Hfgag

(2) 13 %fd gare

(3) Tk o TG T Tai 1 T
(4) 3-4 Tl 1 Th G FA

“XM, Y-, A9, A, W3, M,
A F wu ° FEa Ty ow=w, fE
fEgear g I WA @ ?

(1) Gt

(2) A=

(3) HIHI

@) qr
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58.

39,

60.

61.

62.

Select the correct statement :

(1) Pallavi, Anupallavi and Charan are
the essential components of
Kirtanam and Kriti.

(2) Kriti is a very simple composition
composed in prachlit ragas only.

(3) Kriti and Kirtanam both are
‘Shringar Pradhan’ singing forms.

(4) Kriti is similar to Hindustani
Dhrupad.

Select the correct group indicating

Trinity of Karnatak music :

(1) Tyagraj, Muttu Swami, Shyama
Shastri

(2) Swati Tirunal, Shyama Shashtri,
Tyagraj

(3) Balmurli  Krishna,  Tyagraj,
Shyama Shastri

(4) Shyama Shastri, Swati Tirunal,
Muttu Swami

Rendering more than one melody at a
time is known as —

(1) Counter Point Harmory

(2) Syncopation

(3) Slur

(4) Staccato

Identify the basic character of Harmony :
(1) 9 Shruti Samvad

(2) 13 Shruti Samvad

(3) Successive rendering of notes

(4) Simultaneous rendering of 3-4
notes

Swaras arranged in the order of —“Tone,
Semi-Tone, Tone, Tone, Semi-Tone,
Tone, Tone”, depicts the structure of
which Hindustani ‘Thaat” ?

(1) Bhairavi
(2) Asawari
(3) Kafi
(4) Todi



63.

64.

65.

66.

forde T = yelfa s & fod e
TR bl SEwIEAT Bidl & ?

(L) = 2 5
3) 10 ) 15
gafera HIf :

ot -1 e -1
a. BRRIMs 1 usd
b. ¥R I 3ied
c. URRIME 1L ¥ES
d. fRE V. |qof
aﬁﬁwgﬁ

a b C d

() m 1 1 IV
) IV 1 1 11
Gy I IV I I
@ 1 m o 1w
frafafigd She@ ® b [SHM ®
SFHIAHHER 3R HIFAT :
I e SRS Whel
. SEs 5
111, TR e
(H m 11
) I 1 o1
3) 1 1 I
4 1 1 1
gﬁ%ﬁﬁﬁﬁﬂ:

gt -1 LSt
2 Sftfd=fre 1. =EEYE
b. wifete & 1. fagpaer
c. TEEmAe w11 HeHH 9E
d. HifewEsHAR IV, JIE
E@ﬁﬁq?ﬁ :

a b c d
OHum o1
@ I m v 1
@) 1 1Iv H 1
@ v 1 v I

14

63.

64.

65.

66.

How many singers are needed to render
the musical composition Quintet ?

(1) 4 2) 5
(3) 10 4) 15
Match the following :

List-1I List-11
a. Heptatonic 1. Shadav
b. Hexatonic II. Audav
¢. Plutatonic I1I. Saptak
d. Octave IV. Sampurna

Choose the correct option :
a b c d

Hym moI IV
@IV 1 1 1
@) I Iv I I
@ 1 m o

Arrange the following scales in

chronological order :

I. Mean tone temperament scale
II. Diatonic scale

III. Pythagorus scale

(h) 1 1 I

2) 1 I

3) 1 m 11

4 1 1 I

Match the following :

List—1 List-11I

a. Dominant 5" I. Pancham
Bhava

b. Mediant 3% 1. Vikrit
Swara

c. Subdominant 4"  III. Madhyam
Bhava

d. Modified Note IV. Anuvadi

Choose the correct option :
a b c d

Mmum m 1 IV
@ I m v I
Gy 1 IV 1 I
@ IV 1 IV I

01 (Paper-I, Sarangi Instrument-I)



67.

68.

69.

70.

7L

q1E 1 a1 Ar=mgs it S 2
(1) T H BT HE

(2) INGITH H&A T

(3) Tafire arer saf=i @

(4) TerERIh Sl &

T o R - wefkfa e & o
I T Thel ST & 7

(1) e whet

(2) TSR Thel

(3) T Thel

(4) Sectl To0E Whe

AU aHe, o Tl % ol
Al o 3T 7

(1) =9 dm

(2) g I

(3) &8 TR aE

(4) geam

gult TrE % Fifaw wr ® feRweRt SR
fpaT ST R 7

(1) 9=

(2) it e

(3) hEA

(4) YR

gl TR % o, Prefafea i a wm A
T Mg @ e ?

(1) fersER

(2) HEHEH

(3) arREH

(4) ToTaa Te ST

01 (Paper-1, Sarangi Instrument-I)
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67.

68.

69.

70.

71.

Variation of pitch depends on —

(1) Magnitude

(2) Vibration

(3) Quality of different instruments

(4) Electronic sound

Which scale is appropriate to produce
‘Harmony Music’ on Piano ?

(1) Natural scale

(2) Major scale

(3) Minor scale

(4) Equally tempered scale

‘Equally tempered scale’ come into
existence for —

(1) Autophonic Instruments
(2) Membranophonic Instruments
(3) Fixed key Instruments

(4) Aerophonic Instrument

Conclusive part of ‘Thumari® is

rendered with —
(1) Paran

(2) Laggi Ladi
(3) Kayda
(4) Peshkar

Which among the following musicians
was famous for Thumri ?

(1) Riyazuddin

(2) Fahimuddin

(3) Tansen

(4) Ganpat Rao Bhaiya



73.

74.

75.

76.

%Hﬁaﬁﬁ‘mﬁram’%mﬁmﬁw—
e H g R e ?
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72.

73.

74.

15.

76.

Siddheshwari Devi was an exponent of

which musical form ?
(1) Kriti

(2) Dhrupad

(3) Thumari

(4) Rabindra Sangeet

‘Poorab’ and ‘Punjab’ are the two main

‘Angas’ of which musical form ?
(1) Dhrupad

(2) Khayal

(3) Chaturang

(4) Thumri

Which
‘Utpattivad” as his Rasa-theory ?

(1) Bhatt Shankuk
(2) Bhatt Lollat
(3) Abhinav Gupt
(4) Bhatt Nayak

scholar corroborated

‘Rasa’ is described in which chapter of
Natya Shastra ?

(1) 6

2) 11

3) 9

(4) 34

‘Sanchari-Bhavas’

How many are

mentioned by Bharat ?
(1 8
(2) 33
(3) 10
(4) 36
01 (Paper-1, Sarangi Instrument-I)



1.

78.

9.

80.

81.

82.

FHTE qUT ‘fouTe’ o W A R AT S 7
(1) g °E

(2) TS WE

(3) fovma

(4) FHHE

TigeR, WTd, HiceTY aUT g9d 7 A
o < Tl B R - H EY A AMT G ?
(1) #fi—a=

(2) HeAhiE — S

(3) UEH — TR

(4) AR — 9"

T ST R T hY YT I, A
i e g TR S % w R 2

(1) AT &

(2) Tocifea e

(3) At feretfea o

(4) gaT™

STferl % ‘eI ol Seoid TRl &
(1) wamd

(2) T=ECEH

(3) SHlcHHed A

(4) W@

et % T 3R § Si@ o1 3UTH BT 7,
34 HEd 8

(1) FHk

(2) TS

(3) W&

@) Y@

T 37 gl w i s Fa E ?
(1) = Term el

(2) =eha 3Tt

(3) Hfea el

(4) T e
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7.

78.

79.

80.

81.

82.

‘Unmad’ and ‘Vishad’ are considered
by Bharat as —

(1) Sanchari Bhava
(2) Sthai Bhav
(3) Vibhava

(4) Anubhav

Which two ragas are commonly
mentioned as male ragas in Someshwar,
Bharat, Kallinath and Hanumat mata ?
(1) Shri—Megh

(2) Malkauns — Bhairavi

(3) Pancham — Natnarayan

(4) Natnarayan — Bhairav

In Natyashastra - ‘Veer’ and
‘Bhayanka Rasa’ Dhruvas are
prescribed to be sung in which ‘laya’ ?

(1) Madhya laya
(2) Vilambit laya
(3) Ati Vilambit laya
(4) Drut laya

‘Dhyan’ of ‘Jati’ is mentioned by —
(1) Matang

(2) Nanya Dev

(3) Jagde Kamall

(4) Bharat

The couplet of Ghazal which includes
the Pen-name of writer, is known as —

(1) Mugquarer
(2) Tallaffuz
(3) Makhta
(4) Rekhta

Which among the following represents
‘Poorab Anga’ Thumri ?

(1) Bade Gulam Ali

(2) Barkat Ali

(3) Munavvar Ali

(4) . Girija Devi



83.

84.

85.

86.

87.

88.

o f Sd-o@ anl qun b
et i e wea He, e el
& @ g 7

(1) =R 30 Al

(2) STt ST gEG

OREEEEL

(4) 7= 3 Al

it feren gre’ <1 g ferdiwer &
(1) T

fierdi %1 gy fa amiias A 68 7
(1) zo

(2) Pree

(3) SrEt

@) gl

A<t fopg wTa @ EEtA @ 7
(1) fe@r

(2) BEETE

(3) ST I

(4) TSEIH

i8

83.

84.

85.

86.

87.

88.

Improvisation through unusual swara
combinations and small ‘tonas’ of
Tappa is the speciality of -

(1) Banaras anga Thumri

(2) Bengal anga Thumri

(3) Punjab anga Thumri

(4) Khyal anga Thumri

Main feature of the Musical-form
‘Dadra’ is —

(1) Gamak

(2) Consistency in laya and tala
(3) Vilambit Alap

(4) Sthai, Antra, Sanchari, Abhog

Metre of Ghazal is known as —
(1) Bahar
(2) Sahar
(3) Farad
(4) Misra

First couplet of Ghazal is known as —
(1) Quata

(2) Mansab

(3) Matla

(4) Shafaque

Bindadin is related to which musical

form ?

(1) Tappa (2) Trivat
(3) Javli (4) Thumri
Chaiti is related to —

(1) Bihar

(2) Chhattisgarh
(3) Uttar Pradesh
(4) Rajasthan
01 (Paper-1, Sarangi Instrument-I)



89. v fwafa @ wafa g7 - “fawrargyne

90.

91.

92.

93.

=it @areg o7, feem sarn
g7

(1) Hfeepeer

(2) wam

(3) ARg

(4) W

Gifie TRt H, ‘=i U & T fhm
g BT Joo feRaT @ 7

TR Tt Trefafaa 4 @ form w1’ %
TAFE 7

(1) wifEe

(2) siftzm

(3) RrE3H

(4) Trediensteam

fr=fafes & ®F @1 & wrE-aE
g7

(1) siftam

(2) wmsfesm

(3) TredegiesH

(4) ETIUESISIA

el -’ 3 At e SRt
freran g ?

(1) s

) ‘e

@3) =

@y ‘I
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89.

90.

91.

92.

93.

Rasa related maxim — “Vibhavanubhav
vyabhichari Sanyogadras nispatti”, is
given by —

(1) Nandikeshwar
(2) Matang
(3) Narad
(4) Bharat

Which ‘Varna’ is mentioned for
‘ Antar-Gandhar® according to Sangeet
Ratnakar ?

(1) Shudra

(2) Vaishya
(3) Kshatriya
(4) Brahmin

Major scale is similar to which of the
following mode ?

(1) Lonion
(2) Dorian
(3) Lydian
(4) Mixolydian

Which of the following is a ‘Plegal-
Mode’ ?

(1) Dorian
(2) Lydian
(3) Mixolydian
(4) Hypolydian

Which prefix is used in the name of
‘Plegalmodes’ ?

(1) ‘Hypo’
(2) ‘Mixo’
(3) ‘Do’
(4) ‘An’



94.

95.

96.

97.

98.

Fefiyfirs i I TE=MHT :

(1 d (2) #1
T Bl

o1 1

(3) bd 4 d
b T b T

T a1

e 3 i A Taq: S S B S
HAUTE ?

(1) 3T (2) <l

(3) IEHeA (4) Ffazat
ey o forg wreem & i A | 2
(1) 3™ @) @@

(3) ™ 4) Tafa

et eafy T B aReEta e i wrv g 7 | 97

(1) 3maa (2) 9
(3) EH (4)
SefRea A A B A HA T3 7

(i) et 1 Frmior sl g BT R |

(i) T & gor A ety <l i *HH
B2 |

(iii) Taf ¥ wE %g e wem A
STTETTRAT BT 2 |

(iv) S T eEfy, g % FOR &g
T <l STTEvasHal Bid @ |

e

(1) (@)@ (i)

(2) (i), (ii) 7 (iii)

(3) (i), (iii) 9T (iv)

4) (i), (iii) 9T (iv)
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94.

95.

96.

98.

Identity the Diminished chord :

(1 Pa (2) # Pa
Ga Ga

Sa Sa

(3) b Pa 4) Pa
b Ga b Ga

Sa Sa

What is the reason of self-sound
generation in ‘Tarab’ wires

(1) Resonance (2) Oscillation
(3) Differentiation (4) Ultrasonic

Sound waves do not travel through
the —

(1) Solid
(3) Gas

(2) Liquid

(4) Vacuum

An echo occurs when a sound wave is —
(1) Refracted (2) Transmitted
(3) Reflected (4) Absorbed

Which of the following statements arc

correct ?

(i) Sound is produced by Vibrations.

(ii) Sound travels slower than light.

(iii) Sound requires a medium for
propagation.

(iv) Light and sound both require a
medium for propagation.

Code :

(1) (i) and (ii)

(2) (i), (i) and (iii)

(3) (ii), (iii) and (iv)

4) (i), (ili) and (iv)

01 (Paper-I, Sarangi Instrument-I)



99. ‘T A whe Y fha T BIAE 7 99. How many Tones are there in ‘C’ major
(1) 3 scale ?
(2) 4 1 3 2 4
3) 5
@) 7 3 5 @ 7
100. g UK el § S WM 9T TR 100. Which major scale has no sharps or flat
R S BT ? key signature ?
(1) ATSE (1) A Major
(2) CHR (2) C Major
(3) FHsT (3) F Major
(4) G (4) G Major
101. feu T E-mES' W UgEHER HEl 101. Identify the given scale and select the
Tererea g4 correct option :
g Ascending D“‘m“"’:g, p Ascending | Descailng
= Hrﬂwl-", Ee =

102.

103.

(1) AR Thel

(2) WTET Thed

(3) wafes =ha

(4) AT A Shet

fordl) TS T % offe aRefe A
QI B T HEAI &
g>2?ﬁ?r
3>2‘<?F{
(1) "SR HIE
(2) TSR ATE HIS
(3) AMARS HIE
(4) STHATE AR

4. METE ¥ AR L, U g et Wi
3 fpm @ H i adiz ?

(1) R

(2) =

(3)

(4) dveE
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102.

103.

(1) Major scale
(2) Minor scale
(3) Chromatic scale

(4) Harmonic minor scale

When the interval between the Notes of a
chord is two tone, it will be called as :

g) 2 Tone
0} 2Tone
(1)
()
3)
C))

Major Chord
Minor Ninth Chord
Augmented Chord

Dominent Major

Which ‘Rasa’ is derived from the
Ragashaving ‘Re, Dha Shuddha’
according to Pt. Bhatkhande ?

(1) Shringar

(2) Karun

(3) Veer

(4) Vibhatsa



104.

105.

106.

107.

S a1 fsed diwcaaTal % fagidi ol Tal
gt @ ?

(1) HgeH, T

(2) Ferad, ferepfa

(3) ETHET, GETAT

(4) fafererr, Gge

i % died uE @ Tl HE A
FAH IR ?

(i) & YA

(i) i ot BT S feream
(iif) e e myE =t 1 e
%

(1) = (i)

(2) (ii) T (iii)

(3) (1) T (iii)

@) (i), (ii) 7 (iii)

st (A) @ @it dicd 98 T
FH Fiq T B | gEd o
5T ST Bl ST IR |

FROT(R) ¢ AT AT A
¥ T 1 v feR R |

(1) (A)@T (R) ST @81 & 7 (R), (A)
1 T8 TSR |

(2) (A) T (R) -3 adl g,
A (A), R) A Eefa T 2 |

3) (A) T 2, Al (R) e € |

) (A) TTeTd B, AR (R) FE @ |

STIR W@’ < TR - H®E ?
(1) T (2) I8
(3) fo=m (4) T
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104. Which option does not depict to the

principles of Aesthetics ?
(1) Balance, Harmony

(2) Diffraction, Mutilation
(3) Proportion, Symmetry
(4) Variation, Balance

. Which elements influence the beauty of

Music ?
(i) Purity of notes

(i) Methodical
composition

(iii) Suitable
production

Codes :

(1) Only (i)

(2) (ii) and (iii)

(3) (i) and (ii1)

(4) (i), (ii) and (iii)

development ~ of

and pleasant voice

. Assertion (A) : ‘Kaku’ is very effective

for the beauty of Music. Use of
Kaku in Thumri is its life.
Reason (R) : Bharat

Sharangdev have described the
importance of Kaku.

(1) (A) and (R) both are true and (R)
is the correct explanation of (A)

(2) (A) and (R) are individually true,
but (A) is not related with (R)

(3) (A)is true but (R) is false
(4) (A)is false but (R) is true

and

. What is the ‘Sthai-Bhaav’ of Shringar

Rasa ?
(1) Rati
(3) Vismaya

(2) Utsah
(4) Jugupsa
01 (Paper-I, Sarangi Instrument-I)



108.

109.

110.

{5

112.

frefeafaa # & =i =t S gafoaa 7@
27

(1) I =g — <
(2) AEAl T3 Thararer — g
(3) TR TEA — TS
(4) YESRIHEH STl — e

sy fren Hiedeme w1 e fopdl HIHT ST
27

(1) ST

(2) e

(3) w4 waw e
(4) 3

-afEl efiestor, wi-sE Qe W
Feron 1 fopm wifera shematt 1 SR gfemma
27

(1) Terresen, arfee, gideen
(2) i, gfdea, T
(3) wfeea, i, Hidwhen
(4) wfra, anfec, Fesepen

fipg TR 3 T % e-w’ aun -

T Tl % Seoid foRaT g 7

(1) Hree 2) @

(3) sk (4) HEA

Tret = wfta edor # fere T T aa
F FER WI-2IH’ o Ieord fpa @ ?
(1) WdHd (2) ¥AHA

(3) FHwHa (4) Bawd
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108.

109.

110.

111.

112.

Which out of following pairs is
wrongly matched ?

(1) Asgari Bai — Chaiti
(2) Akhtari Bai Faijabadi — Thumri
(3) Mehandi Hasan — Gazal

(4) Purushottam Das Jalota — Bhajan

Who is known as the father of Modern
Aesthetics ?

(1) Baumgarten
(2) Kant

(3) John Stuart Mill
(4) Aristotle

Rag-Ragini classification, Rag-Dhyan
and Rag illustration shows the use of
which fine arts ?

(1) Painting, Literature, Sculpture
(2) Music, Sculpture, Architecture
(3) Literature, Music, Sculpture

(4) Music,, Literature, Painting

Which scholar has mentioned the
“‘Naadmayi’ and ‘Devmayi’ swaroop of
Raga ?

(1) Somnath (2) Jaidev
(3) Dattil (4) Kohal
Damodar has mentioned the °‘Rag-

Dhyan’ in ‘Sangeet-Darpan’ according
to which sect of Rag-Ragini tradition ?

(1) ‘Bharat-mat’ (2) ‘Hanuman-mat’
(3) ‘Krishna-mat’ (4) *Shiv-mat’
(m



113. fer M wmwen @ ogm T oW

(1) &
(3) eE

(2) drgl
(4) 9

114. “gfra-gdor # fopy g avf % SR, T8
Tpg TR ‘A’ R ?

“TrreR wieReT! faetepiema:
ey Friwepferamn: |

T BTt T e
gurstisEfa
he:

(1) E=TEdl (2) AT
(3) rEEd 4) 9@

115. I ¥ gfeqor i T wre g & w@l
M <! ST shifre -
(1) wifefiargn, SR, Huw, sed
(2) ek, Fhge, TH, Hifefared
(3) U, Jedl, $hgd, mieiga
@) i, o, Afefisgn, $Hage!
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113. Identify the Raga by the

Ragmala-Painting :

given

(1) Bhairav (2) Todi

(3) Darbari (4) Bhairvi

114. According the

to
‘Sangeet-Darpan’,
following ‘Rag-Dhyan’

description of
Identify the
“Gangadhar Sashikala tilak strinetrah
Sarpevibhusit nurgajkrittivasa |

Bhasva trishulkar esh nrimunddhari

Shubhrambaro jayti ~ Rag II”
Code :

(1) Khambawati (2) Malshri
(3) Asavari (4) Bhairav

115. Indicate the correct sequence of

classified dances from North to South —

(1) Mohiniattam, Kuchipudi, Kathak,
Odissi

(2) Kathak,  Kuchipudi,
Mohiniattam

(3) Kathak,  Odissi,
Mohiniattam

(4) Odissi, Kathak, Mohiniattam,
Kuchipudi

01 (Paper-I, Sarangi Instrument-I)

Qdissi,

Kuchipudi,



116.

117.

118.

119.

120.

frafafeaa § 8 Pe s = &L
(1) HIH — q&Al

(2) YR — =S

(3) wforglt — g

(4) stz —afas

Frefofea § 4 R 1 ad gafaa g ?
(1) Trer et - feeeft =

(2) Tm TEr iy — STSreT '
(3) el faetra @t — oS g
(4) I TET — FE@TETG BT

Freadt Son & feaht g it E ?
1) 16 (2) 20
(3) 24 @) 30

YT o hl FTEGR AT T #41
<61 o Afgen Hew i ot 7

(1) HEHT gomuaH,

(2) TH.TE. GgeaEH]

(3) wfofieet swved

(4) oMot TR

WWWWW:

(i) |EET I, R % IR-T4 &
THAT ATET T 2 |

(i) 39 Seft = aeehl 3R | g T
T T W R Siehied A R
FT VS BIERT GRS fRa
R

o

(1) (i) 5dl, (i) 7Terd |

) ()7, (i) @& |

(3) (i) (ii) S WET & |

(4) (i) (i) G TTera @ |
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116.

117

118.

119,

120.

Choose the odd one out of the
following :

(1) Kathak — Tabla

(2) Kathakali — Chenda
(3) Manipuri — Pung
(4) Odissi— Thavil

Which of the following is correctly
matched ?

(1) Siddhar Khan — Delhi Gharana

(2) Ram Sahai Mishra — Ajrada Gharana
(3) Haji Vilayat Khan — Punjab Gharana
(4) Kadir Baksh— Forrukhabad Gharana

How many frets are there in Saraswati
Veena ?

(1) 16 2) 20

(3) 24 4) 30

Who was revivalist of Bharatnatyam

and first woman member of ‘Rajya-
Sabha’ ?

(1) Padma Subramaniyam
(2) M.S. Subbulaxmi
(3) Rukmini Devi Arundale
(4) Mrinalini Sarabhai

Identify the correct statement :
(i) Sattriya is the only classical dance

form of North-East region of India.

(i) It was technically established by
Shankardev and promoted by
Bhupen Hazarika.

Code :

(1) () true, (ii) false

(2) (i) false (ii) true

(3) (i) and (ii) both true
(4) (i) and (ii) both false



121.

122.

123,

124.

125

126.

ST ¢a 7 7 ¥l a2 22 i ol T
&d, Tora om 1w fepem @ 2

(1) @® ot dton

(2) SRE o

(3) =g qHft iom

(4) g o o

ST -t fore T W R T Fe R 7
(1) Afy=a Tarsef

(2) Gt TRt

(3) T I

(4) W 9Ty

T TUsRl 4 1g da9a = fhm gfa w
T e g ?
(1) 20
(3) 17

(2) 194t
(4) 169

S Y HE & IHN, T=H
S T

(1) 320

(2) 360

(3) 305

(4) 405

<o % AR W T S99
oreeh g <t 718 7

(1) 9me

(2) W

(3) 3@

(4) wam

fr=falaa d @ g wref= gfer s
27

(1) %=

(2) et

(3) i gt

(4) g FHeam
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121.

122,

123.

124.

125.

126.

Which veena was used by Sharang Dev
to place his 7 notes and 22 ‘Shruties’ ?

(1) Seven string veena
(2) Twelve string veena
(3) Twenty two string veena

(4) Twenty string veena

The Annotation — ‘Abhinav-Bharti’ is
written on which text ?

(1) Abhinav Geetanjali

(2) Sangeet Ratnakar

(3) Natya Shastra

(4) Bharat Bhashya

According to the ancient scholars
‘Shudha-dhaiwat’ is placed on which
“‘Shturi” ?
{1 204
(3) 17*

(2) 19111
@) 16"

According to Modern Shudha-scale,
the frequency of ‘Pancham’ is —

(1) 320
(2) 360
(3) 305
4) 405

Placement of ‘Swaras’ on the wire of
veena was pioneered by —

(1) Narad
(2) Bharat
(3) Ahobal
(4) Matang

Which one out of the following is a
‘Evening Sandhi-Prakash raga’ ?

(1) Bhairav
(2) Bhairavi
(3) Puriya Dhanashri
(4) Shuddha Kalyan
01 (Paper-1, Sarangi Instrument-I)



127.

128.

129.

130.

131.

132.

qau fpaa g ?
(1) w&e

(2) HE
(3) RedH

(4) WrEH Td

T i anfvte Reas Gha w2 ?
(1) T <1 IRH

(2) T AT

(3) TAT Al QTS

(4) T 1 E-HTE

Irerae X o % AR T g A B wEl
e feram @ 2

(1) 20"

() 37

(3) 32"

) 18"

‘Rraq—ar’ <6 Soft §, S Era e ?

Frita-ToTet ‘S’ o feha JHRI I
IeerE @ ?

(1) 8
(2) 4

(3) 6
4) 5

el aftreere Tt A ‘me
fRufa?

(1) watia

(2) uda

(3) HamW

(4) A-TEd

01 (Paper-1, Sarangi Instrument-I)

127.

128.

129.

130.

131.

132.

‘Oudgrah’, Dhruv’, Melapak’
‘Abhog’ are related to —

(1) Prabandha
(2) Murchhna
(3) Koot tana
(4) Razakhani Gat

and

‘Avirbhav’ in a raga denotes —
(1) Beginning of Raga

(2) Vadi of Raga

(3) Reinstatement of Raga
(4) Rasa bhav of Raga

On the wire of veena Ahobal has placed
‘Shudha Ni” on

(1) 20"
2) 37"
(3) 32"
4) 18"

Which falls
category of ‘Vitat-Vadya’ ?
(1) Sitar

(2) Violin

(3) Harmonium

(4) Dholak

instrument under the

How many ‘Kakus’ are mentioned in
‘Sangeet-Ratnakar’ ?

(1 8 2 4
(3) 6 “4) >

The status of ‘Madhyam’ in ‘Evening
Sandhi-Prakash ragas’ is —

(1) Ma Varjit

(2) Ma Teevra

(3) Ma Vadi

(4) Ma-Ga Sangati



133.

134.

135,

136.

13%

SipenfgF 72 Ui H, FFaR @i S g |
At T E ?

(1) 4 @ 7
3) 2 ) 6
fora = 9

(1) AP — 3TeAIAH
2) FEaE — facma @t
(3) ICCTEET — SRt §aH
(4) amEm - fafwEs

@i < g % 3R W efafea ¥
T M o S gafera A& 2 7
FeH %g&lr-ﬁ
(1) & -
) Teem - maaﬁa
(¢) el - el
(4) weamlt - I

fope Tagm 3 gfi—gdur o arem =, g
F IEAH <A H WE T FAT R ?

(1) =Teheafd

(2) THMTE

(3) = gEHfd

(4) ¥

% ITER gafea Hif
gfa R
a ﬁ'q’? I ﬁﬂﬁﬁ
b. . Tceht II. HHe T
c. wedl 1L et {
d. T V. g8 4
%
a b C d
() I Iv I 1
@um m 1w I
Gy Iv 1 m 1
4 n m I
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133.

134.

135.

136.

137.

How many ‘Swaras’ have more than
two names in Vyankatmakhi’s 72
“Thaats” ?

(1) 4 2y 7

(3) 2 4) 6

Choose the odd one :

(1) Allauddin — AliAkbar
(2) Inayat Khan — Vilayat Khan
(3) Allarakha — Zakir Hussain
(4) Tansen — Mihir Sen

According to the similarity of notes,
which pair is not matched correctly ?

Karnatak Hindistani
(1) Mohanam — Bhupali
(2) Hindolam — Malkauns
(3) Shudha Saveri — Todi
(4) Kalyani — Yaman
Which scholar has elucidated the

unequal interval of “Shruties’ through a
‘Shruti-darpan’ ?

(1) Vyankatmakhi

(2) Ramamatya

(3) Acharya Brihaspati

(4) Bharat

Match the following according to the

‘Shruti-Swara’ placement of Bhat
Khande :

Shruti Swara
a. Manda [. Komal Ni
b. Ratika II. Komal Ga
c. Madanti III. Komal Re
d. Ramya IV. Shudha Dha
Codes :

a b [ d
(h 1T 1v 1II I
2 m 1m IV I
3) IV I III II
@ u m 1 v
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138.

139.

140.

141.

freafraa ®, S a1 wnT TR ?
(1) %=

(2) a@rdt

3) T

(4) ST HTEST

FfHE (A) ¢ %‘g@mﬁwar&@ﬂﬂﬁ
@i e U HeE s O €,
Zai ftgds 8 &, 1 A uiEdd &l
ST @ |

RO (R) ¢ IR TRETE & gE
STl ol Gedeh § Y@t aHe fer
ST, a1 Srifes gfderer & fomn o
T 1 TIRIT ST GehelT 8 |

H‘sﬁﬁm%mmgﬁq
(1) (A)TT (R) M @&l & |
2) (A)HE R, Tg (R) T 2 |
(3) (A)@uT (R) QI T & |
(4) (A)TEaR, TG (R) eI R |

%gwnﬁ@ﬂaqaﬁ%wimaﬂqwﬁﬁ
q-fy I yeear @ ol 8, SEih
W:ﬁ?l?ﬂ?ﬂfﬁﬁ

(1) |r-"3hi

(2) -9

(3) T-TH

(4) A-=TH

72 BersRal & SfdTes &
(1) &m=A

(2) =iwenfia

(3) Y

(4) et faga
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138. Which one of the following is not a

139.

140.

141.

‘Ragang’ ?

(1) Bhairav

(2) Todi

(3) Nat

(4) Darbari Kanhda

Assertion (A) : Treatment of ‘Swara’

is an important factor in
Hindustani Ragdari  Sangeet;
change of which consequently
changes the raga.

Reason (R) : Knowledge acquired

through the books regarding
minute ‘Shrutyantaras’ enables a
person to perform any
without practical training.

raga

Select the answer through correct option :
(1) (A)and (R) both are correct.

(2) (A)is correct but (R) is wrong.

(3) (A)and (R) both are wrong.

(4) (A)is wrong but (R) is correct.

In the evening ragas of “Hindustani
Sangeet Paddhati” ‘Ga-Ni’  are
prominent whereas in the morning
ragas —

(1) Sa-Ma
(2) Re-Dha
(3) Ga-Pa
(4) Ma-Sa

72 Melkarta is propounded by —
(1) Lochan

(2) Vyankatmakhi

(3) Somnath

(4) Pundrik Vitthal



142.

143.

144.

145.

146.

fégeart @ifia ®, = 1 W Feat o
&g fepa ST @ 7

(1) skt

(2) 4@

(3) @

(4) SHgh

ATeT USATS! 6 Ueh AT § S il Afg
@relt & Y& fopan s, d1 3% & et i
fepart e g Bt

(1) 2

(2 4

3) 3

(4) R e

i T fereent s € 2
(1) TITHEET, SR, T

(2) TAT, I9LAT, HTNT

(3) wHuS!, Teremud, Syl
(4) ToTIT, AT, TR

Teh T H A & A fohan TR 8 9w
Bt

(1) 5

(2) 4

(3) 6

4) 7

Tl H frera gt o e AiG 4, 3, 2, 4,
4,3,2 7, Al 98 HEAQ

(1) Gehivl Tt wHh

) Tazyfa = aus

(3) YT D

(4) Topa ¥R HS
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142.

143.

144,

145.

146.

Which raga is presented in the midnight
according to Hindustani Music ?

(1) Bageshri
(2) Bhairav
(3) Todi

(4) Jaunpuri

The ‘theka’ of ‘Tala-Punjabi’ will be

repeated how many times in a
‘Avartan’ to mark chaugun if it starts

from ‘Khali’ ?

(1 2
3) 3

(2) 4

(4) No repetition

‘Upang Ragas’ are the combination of —
(1) Gramrag, Uprag, Raga

(2) Raga, Uprag, Bhasha

(3) Sampadi, Vishampadi, Ubhaypadi
(4) Ragang, Bhashang, Kriyang
Minimum

how many swaras are

required to form a raaga ?

(1 5
2 4
3) 6
4 7

‘Shruties’ assigned to ‘Swaras’ in the
order of 4, 3,2, 4, 4, 3, 2 is known as —
(1) Sankirna Swara Saptak

(2) Mishra Shruti Swara Saptak

(3) Shudha Swara Saptak

(4) Vikrit Swara Saptak

01 (Paper-1, Sarangi Instrument-I)



147.

148.

149.

150.

wardi 7 9 3fit 13 g % 37aUet 1 FEd 8
(1) faard =

(2) HaTEl TR

(3) JFETET T

(4) afda =R

fégeart wifa H, 12.00 wex Ul |
12.00 HEATE o 5T TRA-89, T Tt
F o fra ferman g 2

(1) qetmaTe T

(2) IS W
(3) 3ited Sfa W
(4) Hqet ST T

e wes-7mH % = 6w fd B A=
Iaw fean 5T, < 98 FHEer

(1) TURTH

(2) S U™

() fapaam

(4) 994 U™

Fiess oifia % el @ TgaHERL, el

1) v iii i ii
@) iv i iii ii
(3) ii iii iv i
@) i iv ii iii

147.

148.

149.

150.

Interval of 9 or 13 Shruties between the
notes is known as —

(1) Vivadi Swara
(2) Samvadi Swara
(3) Anuvadi Swara

(4) Varjit Swara

In Hindustani Music, the time — 12.00
mid night to 12.00 noon is assigned for —

(1) Poorvanga Vadi Ragas
(2) Uttaranga Vadi Ragas
(3) Audav Jati Ragas

(4) Sampurna Jati Ragas

If the ‘Pancham’ of ‘Shadja-Gram’ is
lowered by one shruti, it will be known
as—

(1) Gandhar Gram
(2) Shadja Gram
(3) Vikrit Gram

(4) Madhyam Gram

Identify and match with correct code to
the instruments of Karnataka music —

01 (Paper-I, Sarangi Instrument-I)
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(@) (i1) (iii) (iv)
Codes :

Gatam Tavil Chenda Khanjira
(1) iv iii i il
2) iv i il ii
3) 1 iii v i
4 1 v ii il



THHE &% [T = / SPACE FOR ROUGH WORK
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